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SECTION - A 

Q. No. 1 is compulsory. 
Candidates are also required to answer any four questions  

from the remaining five questions. 
In case, any candidate answers extra question(s)/sub-question(s) over and above the 

required number, then only the requisite number of questions top answered in the answer 
book shall be valued and subsequent extra question(s) answered shall be ignored. 

Working Notes should form part of the respective answer. 

 

Question 1: 

(a) From the following data related to a company, you are required to prepare 

Balance Sheet as at 31st March, 2017: 

Current ratio 1.75 

Liquid ratio 1.25 

Stock turnover ratio  (closing stock) 6 times 

Gross profit ratio 20% 

Debt Collection period 2 months 

Reserve to capital ratio 0.6 

Fixed assets turnover ratio (on cost of goods sold) 1.2 

Capital gearing ratio 0.625 

Fixed assets to net worth 1.26 

Sales for the year Rs. 15 lakhs 

(7 Marks) 

 

(b) Determine the market price of equity shares of ZEROX Ltd. from the following 

information: 

Earnings of the Company Rs. 10,00,000 

Dividend paid Rs. 6,00,000 

Number of shares outstanding 2,00,000 

Price earning ratio 8 

Rate of Return on Investment 15% 

 Are you satisfied with the current dividend policy of the firm? If not, what should 

be the optimal dividend payout ratio? Use Walter’s Model. 

(6 Marks) 

 

(c) M/s. Navya Corporation has a capital structure of 40% debt and 60% equity. The 

company is presently considering several alternative investment proposals costing 

less than Rs. 20 lakhs. The  corporation always raises the required funds without 

disturbing its present debt equity ratio. 

 The cost of raising the debt and equity are as under: 

Project cost Cost of debt 

(before tax) 

Cost of equity 

Upto Rs. 2 lakhs 10% 12% 

Above Rs. 2 lakhs & upto to Rs. 5 lakhs 11% 13% 

Above Rs. 5 lakhs & upto Rs. 10 lakhs 12% 14% 

Above Rs. 10 lakhs & upto Rs. 20 lakhs 13% 14.5% 

 Assuming the tax rate at 50%, CALCULATE: 

(i) Cost of capital of two projects X and Y whose fund requirements are Rs. 

6.5 lakhs and Rs. 14 lakhs respectively. 

 (ii) If a project is expected to give after tax return of 10%, DETERMINE under 

 what conditions it would be acceptable? 

(7 Marks) 
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Question 2: 

Meena Limited plans to manufacture and sell 400 units of a domestic appliance per 

month at a price of Rs. 600 each. The ratio of costs to selling price are as follows: 

 % of Selling Price 

Raw Materials 30% 

Packing Materials 10% 

Direct Labour 15% 

Direct Expense 5% 

 

Fixed overheads are estimated at Rs. 4,32,000 per annum. 

The following norms are maintained for inventory management: 

Raw Materials 30 days 

Packing Materials 15 days 

Finished Goods 200 units 

Work-in-Progress 7 days 

 

Additional Informations: 

(1) Credit sales represent 80% of total sales and the dealers enjoy 30 working days 

credit. Balance 20% are cash sales. 

(2) Creditors for all kind materials allow 21 working days credit for payment. 

(3) Lag in payment of overheads and expenses is 15 working days. 

(4) Contingency reserve requirements to be 12% of net working capital. 

(5) Working days in a year are taken as 300 for budgeting purpose. 

(6) Packing material is incurred on completion of goods and part of cost of goods 

sold.   

(7) Material put in beginning and wages and overhead accrue evenly.  

Prepare a working capital requirement forecast for the budget year. 

(10 Marks) 

 

Question 3: 

ABC Limited is considering an investment proposed to install a new machine. The project 

will cost Rs. 50,000 and will have a life of 5 years and no salvage value. The company’s 

tax rate is 50% and no investment allowance is allowed. The firm uses straight line 

method of depreciation. The estimated net Income before depreciation and tax from the 

proposed investment proposal are as follows: 

Year Net Income before Depreciation & Tax 

 Rs. 

1 10,000 

2 11,000 

3 14,000 

4 15,000 

5 25,000 

 

Compute the following: 

1. Pay-back period 

2. Average rate of return 

3. Net Present Value at 10% discount rate. 

4. Profitability index at 10% discount rate. 

Year PV Factors at 10% Year PV Factors at 10% 

1 0.909 3 0.751 

2 0.826 4 0.683 

  5 0.621 

(10 Marks) 
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Question 4: 

(a) Mr. Mehra had purchased a share of Alpha Limited for Rs. 1,000. He received 

dividend for a period of five years at the rate of 10 percent. At the end of the fifth 

year, he sold the share of Alpha Limited for Rs. 1,128. You are required to 

compute the cost of equity as per realised yield approach. 

(5 Marks) 

 

(b) Probabilities for net cash flows for 3 years of a project of Ganesh Ltd are as 

follows: 

Year 1 Year 2 Year 3 

Cash Flow 

(Rs.) 

Probability Cash Flow 

(Rs.) 

Probability Cash Flow 

(Rs.) 

Probability 

2,000 0.1 2,000 0.2 2,000 0.3 

4,000 0.2 4,000 0.3 4,000 0.4 

6,000 0.3 6,000 0.4 6,000 0.2 

8,000 0.4 8,000 0.1 8,000 0.1 

  

 CALCULATE the expected net cash flows and the present value of the expected 

cash flow, using 10 per cent discount rate. Initial Investment is Rs. 10,000.  

                   (5 Marks)  

 

Question 5: 

A firm has sales of Rs. 75,00,000 variable cost is 56% and fixed cost is Rs. 6,00,000. It 

has a debt of Rs.  45,00,000 at 9% and equity of Rs. 55,00,000. 

(i) What is the firm’s ROI? 

(ii) Does it have favourable finance? 

(iii) If the firm belongs to an industry whose capital turnover is 3, does it have a high 

or low capital turnover? 

(iv) What are the operating, financial and combined leverages of the firm? 

(v) If the sales is increased by 10% by what percentage EBIT will increase? 

(vi) At what level of sales the EBT of the firm will be equal to zero? 

(vii) If EBIT increases by 20%, by what percentage EBT will increase? 

(10 Marks) 

 

Question: 6  

fuEufyf[kr ij fVIif.k;ka fyf[k,A 

(a) Xykscy fMikstVjh jlhns         

(2½ Marks) 

 

(b) Hkkjrh; fMikstVjh jlhns         

(2½ Marks) 

 

(c) m|e iw¡th foŸkh;u         

(2½ Marks) 

 

(d) Iysu ofuyk ckW.M         

(2½ Marks) 
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SECTION - B 

Q. No. 7 is compulsory. 

Answer any three from the rest. 

In case, any candidate answers extra question(s)/sub-question(s) over and 

above the required number, then only the requisite number of questions top 

answered in the answer book shall be valued and subsequent extra question(s) 

answered shall be ignored. 

Working Notes should form part of the respective answer. 

 

Question 7:  

(a) fuEu MkVk dh lgk;rk ls O;; rjhdk rFkk vk; rjhds ds }kjk jk"Vªh; vk; dh x.kuk djsa A  

ensa ¼djksM+ #i;s esa½ 

deZpkfj;ksa dh {kfriwfrZ 1]200 

fons'k ls 'kq) QsDVj vk; 20 

'kq) vizR;{k dj 120 

ykHk 800 

futh vafre mi;ksx O;; 2]000 

'kq) ?kjsyw iwath cukuk 770 

fLFkj iwath dk mi;ksx  130 

fdjk;k 400 

C;kt 620 

Lo;a jkstxkj dh fefJr vk; 700 

'kq) fu;kZr 30 

ljdkjh vafre miHkksx O;; 1]100 

ifjpkyu vkf/kD;  1]820 

lkekftd lqj{kk ;kstuk esa fu;ksDrk dk va'knku 300 

(3 Marks) 

 

(b) udkjkRed ckárk dks lqy>kus ds fy, lh/kh ljdkjh dk;Zokgh dks of.kZr djsaA  

(3 Marks) 

(c) fu;kZr 'kqYd dks Li"V djsaA  

(2 Marks) 

 
(d) GATT us fdl izdkj 1980 rd viuh izklafxdrk dks [kks fn;k\ 

(2 Marks) 

 

Question 8: 

(a)  1983 esa vkWLVªsfy;k us vius MkWyj dks ¶yksV djus dk fu.kZ; fd;kA eqDr O;kikj ekurs gq,] ,;wMh 

vkSj vejhdh MkWyj ds chp gkftj fofue; nj ij fuEu esa ls izR;sd ds izHkkoksa dh O;k[;k djsaA  

(i) lsokvksa esa vesfjdk ds fu;kZr ds fy, vkWLVªsfy;k esa Ik;kZIr o`f) dh ekax gSA pwafd 

vkWLVªsfy;k fuekZ.k vU; yksxksa ds izfr vf/kd vuqdwy Fks] blfy, vesfjdk esa vkWLVªsfy;kbZ 

mRiknksa ds fu;kZr esa ,d vkuqikfrd o`f) gqbZ gSA  

(ii) vkWLVªfy;k esa fuos'kdks dk ekuuk gS fd vesfjdk esa fuos'k ij fjVuZ dgha vkSj dh rqyuk 

esa vf/kd vkd"kZd gksxkA blds ifj.kkeLo:i vesfjdh MkWyj esa fuos'k dh ekax esa Hkkjh 

o`f)  gqbZ gSA  

(iii) jk"Vªifr pqukoksa ds dkj.k vesfjdk esa jktuhfrd vfuf'prrk us vkWLVªsfy;k esa vkWLVªsfy;kbZ 

foRrh; fuos'k dk cM+k iSekus ij cnyko fd;kA  

(iv) v‚LVªsfy;k ds dqN fgLlksa esa ,d egkekjh us vesfjdk dks ,lih,l mik;ksa ls voxr 

djk;k vkSj vesfjdk esa dbZ [kk| inkFkksaZ ds ços'k ij çfrca/k yxk fn;k 

(5 Marks) 
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(b)  ,d fuf'pr nj O;oLFkk ds eq[; ykHkksa dk mYys[k djsaA 

(3 Marks) 

 

(c)  Hkkjrh; daifu;ksa }kjk fons'kh çR;{k fuos'k ij ,d uksV fy[ksaA 

(2 Marks) 

 

Question 9: 

(a)  vk; ds ifji= çokg dh O;k[;k djsaA 

(3 Marks) 

 

(b)  ewy dherksa ij ldy ?kjsyw mRikn ¼ldy ?kjsyw mRikn½ dh O;k[;k djsaA 

(2 Marks) 

 

(c) jk"Vªh; vk; lax.kuk dh dqN lhekvksa vkSj pqukSfr;ksa dk mYys[k djsaA 

(3 Marks) 

 

(d)  fuos'k xq.kd dh vo/kkj.kk dks le>kb,A 

(2 Marks) 

 

Question 10: 

(a)  buesa ls dkSu lh ,QMhvkbZ gS\ 

(i) Dykjke tks] ,d teZu fuos'kd QksMZ ds 5000 'ks;j [kjhnrk gS] tks vejhdh vkWVkseksckby 

daiuh gSA 

(ii) ,usV Mh] vesfjdh daiuh ,fyl Hkwfe esa ,fefyu ,aM daiuh ds lHkh bfDoVh 'ks;jksa dks 

gkfly djrh gS tks dEI;wVj ?kVd cukrh gSA  

(iii) ,d cYxsfj;kbZ fuos'kd csjSuk xsXosZo udn Hkqxrku djrk gS vkSj eSjh,V daiuh ds lHkh 

cdk;k bfDoVh 'ks;jksa dk 0-2 izfr'kr [kjhnrk gS tks dEI;wVj ckgzk midj.kksa dks cukrk 

gSA  

(iv) eulh Vsd lek/kku teSdk VsDuksykWth QeZ ljjk esa 52 izfr'kr fgLlsnkjh [kjhnrs gSaA  

(v) dksjk us fdzLVk foDVksfju dks ,d _.k iznku fd;k gS] ,d fo|qr mRiknu QeZ ftlesa 60 

izfr'kr bfDoVhA   

(5 Marks) 

 

(b)  fu;kZr & lacaf/kr mik;ksa dk mYys[k dhft;sA 

(3 Marks) 

 

(c)  VSfjQ vkSj O;kikj (GATT) ij lkekU; le>kSrs ij ,d laf{kIr uksV fy[ksaA 

(2 Marks) 

 

Question 11: 

(a)  fuEufyf[kr esa ls izR;sd dks dSls iSls xq.kd vkSj /ku dh vkiwfrZ izHkkfor gksxh\ 

(i) Hkkjr esa okf.kfT;d cSad vf/kd vfrfjDr HkaMkj j[kus dk fu.kZ; ysrs gSA 

(ii) ,Vh,e esa iSls dh deh dk Mj] yksxksa us iSls tek djus dk QSlyk fd;kA 

(iii) iwjs ns'k esa cSad cM+h la[;k esa ,Vh,e [kksyrs gSaA 

(iv) bZ cSafdax cgqr vke gks tkrh gS vkSj yxHkx lHkh yksx mudk bLrseky djrs gSaA 

(v) R;kSgkj ds ekSle ds nkSjku] yksx vDlj ,Vh,e dk mi;ksx djus dk QSlyk djrs gSaA  

(5 Marks) 

 

(b)  fons'kh çR;{k fuos'k ¼,QMhvkbZ½ cuke fons'kh iksVZQksfy;ks fuos'k ¼,QihvkbZ½ ds chp varj crk,saA 

(3 Marks) 

 

(c)  fons'kh çR;{k fuos'k ¼,QMhvkbZ½ ds fofHkUu rjhdksa dk mYys[k djsaA 

(2 Marks) 

__**__ 


